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Instructions :

1. All questions in both the sections are compulsory.

2. Marks for questions are indicated against each question.

3. Question No. 1-3 and 15-19 are very short answer questions
carrying 1 mark each. They are required to be answered in one
sentence.

4.  Question No. 4-8 and 20-22 are short answer questions carrying
3 marks each. Answers to them should not normally exceed 60
words each.

5. Question No. 9-10 and 23-25 are also short answer questions
carrying 4 marks each. Answers to them should not normally
exceed 70 words each.

6. Question No. 11-14 and 26-29 are long answer questions
carrying 6 marks each. Answers to them should not normally
exceed 100 words each.

7. Answer should be brief and to the point and the above word limit
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s A
SECTION A
1. 3fe dmfa i o it fer @ af safemm a6 « (W€ fawen gfu) 1
(a) x-378T o THEIG &I
(b) = TR TAaT sraae B |
(c) 1 TR Al et B |
(d) = i 3T gerat Hie @ Em |

If Marginal Rate of Substitution is constant throughout, the Indifference

curve will be : (choose the correct alternative)

(a) Parallel to the x-axis.
(b) Downward sloping concave.
(¢) Downward sloping convex.

(d) Downward sloping straight line.

2. oS U o1 g S| 1

Give equation of Budget Set.

3. & Iuvih shi 311 FRe ® d1 =fean a5 o Shiga-u1 9% W I8 9 ULdl
3 (v frew gfw) !
(a) gt oTR fagsar 2 |
(b) = IR Rewawar 7 |
(c) WM WHFWH AR I eI |
(d) =M aH WA= A TTH AR |
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When income of the consumer falls the impact on price-demand curve of

an inferior good is : (choose the correct alternative)
(a) Shifts to the right.

(b) Shifts to the left.

(c) There is upward movement along the curve.

(d) There is downward movement along the curve.

4. TF G 9% 6 FEd G0 A= F 1Y F0-f8 (minus sign) ST €T 2
et fop Fma gfd @ % @ 99-f% (plus sign) | FHFTET T ? . 3
The measure of price elasticity of demand of a normal good carries

minus sign while price elasticity of supply carries plus sign. Explain

why?

5. WU Fawd g Fefafad arfcss w e Seared G911 9% % HHL W
fevauft shifsr 3

T X (FT) T Y (FR)
0 8
1 6
2 4
3 2
4 0
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Giving reason comment on the shape of Production Possibilities curve

based on the following schedule :

Good X (units) Good Y (units)
0 8
1 6
2 -
3 2
4 0

6. T E H YE fF T s G AR 1 gt & Icured gurE
T T T IHE T SR H 7 3

HAIAT

o<t o | faresft dsf o aTet S W SAdaw & Icured TTEEl 9% W
THTE GE4 hl 1T 2 ST R 7

What will be the impact of recently launched ‘Clean India Mission’
(Swachh Bharat Mission) on the Production Possibilities curve of the

economy and why?
Or

What will likely be the impact of large scale outflow of foreign capital

on Production Possibilities curve of the economy and why?

7. ‘T S d fafor & R g % SR R T aTe 9 JHEE |
@i &1 3T RIS | 3

Explain the effects of ‘maximum price ceiling’ on the market of a good.

Use diagram.
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wae gy atem adrenfdat & fore wem gt 7 & v w)
1 T Y = T R 7 SAfeeRaw shima dET i o gywe g9eEe |

For the blind candidates only in lieu of Q. No. 7.

What is price ceiling? Explain the effects of maximum price ceiling.

8. U i wftrarit areim ® fashanedi it den sga o1tk et ® | 3| forsivar &
TEed HHETSU |

There are large number of sellers in a perfectly competitive market.

Explain the significance of this feature.

9. orTa =t gftymr difsre | Himtg @rEa AR 3d gitad] 9 & S ey
AT |
arerat
Tty () it afeamsn e | diata gwfy o sitaa swift & e g9y
FATET |

Define cost. State the relation between marginal cost and average

variable cost.

Or

Define revenue. State the relation between marginal revenue and

average revenue.

10. T IR T g W Seeht ffma 5 & 9fd 397 @ 60 % 07 FaT1 2 | 5
e 20 wfqerd RS & o1 oft 9% % W 60 ®. ¥ = Faw @ | Wiawa
faftr g fima -wi &= 31a i |

A consumer spends Rs. 60 on a good priced at Rs. 5 per unit. When
price falls by 20 per cent, the consumer continues to spend Rs. 60 on the

good. Calculate price elasticity of demand by percentage method.
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11. T I%] 1 ISR Tqe § 8 | 39 aeg F Am § ‘FHt’ et 2 | 39 ufEda &
FOT BN AT IHTE! AT THHTET | 6

Market for a good is in equilibrium. The demand for the good

‘decreases’. Explain the chain of effects of this change.

12. i fredt w ) dqem 1 fufa & fag dimfa @ra o diwta wwfe
(31T | FHAT A ¢ ! 1 IE Hqad GHIead i o g =i 2 7
THITIT | 6

Why is the equality between marginal cost and marginal revenue
necessary for a firm to be in equilibrium? Is it sufficient to ensure

equilibrium? Explain.

13. ftadt Fqumal & o § $a 3aag ik Hiutd 3curg § g1 aret aREdAt &
fafim = sy | 378w € tantes 1 o femmw | 6

State the different phases of changes in Total Product and Marginal
Product in the Law of Variable Proportions. Also show the same in a

single diagram.

e g arfam udteriorat & forg v JaT 13 & T W |

T TEITCHF IETel0] & TR W 9iEd! Fqurdi & | § $a 3came i

"t 3came | g At fafie v s | 6
For the blind candidates in lieu of Q. No. 13 only.

State, on the basis of a numerical example, different phases of

changes in Total Product and Marginal Product in the Law of Variable

Proportions.
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14, T IUNITH shddl &1 IEqaTi X 3T Y &1 39 a1 2 | ST sl ST hima
3 % Wi R ® | AR I9ARE 39 3 SEgeAl &k UH HAM H gAE Hal ®
foreefil fiwta wfereemom 2t 3 2, dt @ SuNiehT Sqer § @ 7 S A | v
feurfa § wer faaeht 3usenT &/ &6 ? EueEEy |

HAAT

T IUNIRRT kA & FEgel X M Y 1 IUNH il @ el i
FHY: 4 F. A 5 . TN IHE 2 | IFS UM ST FEqAT 1 THT GAT AT
2 ford X o "l swfiar s o Y <t #Hiq Suifr 4 @, dt
IUNIHT T | 7 v difere | Ut feuf § ek faadht 3ustEr w®m swm?
IuIfiren ferverwor &1 3wz A |

A consumer consumes only two goods X and Y both priced at Rs. 3 per
unit. If the consumer choose a combination of these two goods with
Marginal Rate of Substitution equal to 3, is the consumer in
equilibrium? Give reasons. What will a rational consumer do in this
situation? Explain.

Or

A consumer consumes only two goods X and Y whose prices are Rs. 4
and Rs. 5 per unit respectively. If the consumer chooses a combination
of the two goods with marginal utility of X equal to 5 and that of Y
equal to 4, is the consumer in equilibrium? Give reasons. What will a

rational consumer do in this situation? Use utility analysis.
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@ T

SECTION B
15, T awe § % A s (wE fee i) |
(a) TSI HICT
(b) TSN =T
(c) SefHeh =TT
(d) =T ¥ =1

Borrowing in government budget is : (choose the correct alternative)
(a) Revenue deficit

(b) Fiscal deficit

(c) Primary deficit

(d) Deficit in taxes

16. Fufy S7efme § oy AR & w2 7 1

What is ‘aggregate supply’ in macroeconomics?

17. 79T &1 Hed T2 &1 2 : (Fe fashew gf) 1
@ 1 '
() iﬂmaa;auqﬁi
1
() | et = vt

1
HHTd 3TqAT G -1

(d)
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The value of multiplier is : (choose the correct alternative)

1
MPC
1

MPS

1
1-MPS

1
MPC -1

(a)

(b)

(c)

(d)

18. 31 9T qdad d W, afe foreft 2w o frwht gu f Fima g @ @ @@
T o« (FE ferhed gfe)
(a) W gig T Huren Bt R
(b) TR it G 2t 2
(c) Ifg e i i I G Bieft &
(d) WHE gAF T BT

Other things remaining unchanged, when in a country the price of
foreign currency rises, national income is : (choose the correct
alternative)

(a) Likely to rise

(b) Likely to fall

(c) Likely to rise and fall both

(d) Not affected
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19. F=fefiad 3 M-t Teiea 7z 2 : (T faeeq giw)
(a) Tafa e
(b) HHEM@ I[eeh
(c) Wi
(d) 3R Yook
The non-tax revenue in the following is : (choose the correct alternative)
(a) Export duty
(b) Import duty
(¢) Dividends
(d) Excise

20. TaSsTi 1 T o=F1 PTAH Gqed @ B HEl gl [hdT SO ¢ R
ddigy |
Where will sale of machinery to abroad be recorded in the Balance of
Payments Accounts? Give reasons.

21. IS Hifss Ta ¥ I 1200 %. B 37 shimd FEehish (IMER = 100)
120 ?, A1 ARiforeh Hehel Q{19 IcaTa FTd I |
If the Nominal GDP is Rs. 1200 and Price Index (with base = 100) is
120, calculate Real GDP.

22. e o 39 fawga a o AW SqTsU ST AT Sqer e % st e
7§ gt R ST 2 |

AUAT

Te & 39 forqa o o T FaTE ARt S HqeH ol % G @
T gsl fRaT maT 2 |
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23.

24.

25.

Name the broad categories of transactions recorded in the ‘capital

account’ of the Balance of Payments Accounts.
Or

Name the broad categories of transactions recorded in the ‘current

account’ of the Balance of Payments Accounts.

T HATEdT e | ¢ | Fefafed 8w 3use 3id i -

T A= = 1000
Himia g ygid = 0.8

e = = 100
An economy is in equilibrium. Find ‘autonomous consumption’ from the
following :
National income = 1000
Marginal propensity to consume = 0.8
Investment expenditure = 100
eI Sk T STRIHT Seh T THTRT |
HAYAT
el S 1 TR 1 6k il TS |
Explain the ‘bank of issue’ function of the central bank.
Or

Explain ‘Government’s Bank’ function of central bank.

T & H ANd G A SH-99 g gy & e 32w R v
me@wwﬁm@mﬁimﬁwm%maﬁm
STHTE 391 31 TP 37T 1 oKl Tl i |
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Government of India has recently launched ‘Jan-Dhan Yojna’ aimed at
every household in the country to have at least one bank account.
Explain how deposits made under the plan are going to affect national

income of the country.

26. WSS % WIEIH H GEIEAI o TG I Wuifad A H G Y yfierr
R FHIfST | 6

Explaih the role the government can play through the budget in

influencing allocation of resources.

27. T FATd §C THIRY TR TP o o A1oE w0 | frefafaa o wm e
g foan ST =nfzu : 6
(i) w9 gRI IS AFR il $F I W
(ii) H g1 &R T A
(i) %9 g1 T 39 & o0 $15 61 F9

Giving reason explain how should the following be treated in estimation

of national income :

(i) Expenditure by a firm on payment of fees to a chartered accountant
(i) Payment of corporate tax by a firm

(iii) Purchase of refrigerator by a firm for own use

28. ThHIfRRT 7T it STTURON THATRT | FHH! FH FA § gAEIE & (Repo
Rate) 31 3firerT ot s Hifa | 6

HUAr
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HOERIfdeRTl STt il STTUTOT THET 3K 38 FH FH A G TN F
HTAHETAl hl STHhT h! SFTEAT HfSTT |

Explain the concept of Inflationary Gap. Explain the role of Repo Rate
in reducing this gap.

Or
Explain the concept of Deflationary Gap and the role of ‘Open Market

Operations’ in reducing this gap.

29. ‘TN MG W TS TP Ica1e’ a9 Fae ugi wasa o gma Fif

(FS%.)

(i) | formm 100
(ii) | 21w forea =t fraer =mey st 30
(iii) | FrITSTeRt gr HTTiSTen HRe 3Tve™ 47
(iv) | fifora 600
(v) | weat efr it fmfon 140
(vi) | TRt 20
(vii) | =t 110
(viii) | =it s arfesrfies 500
(ix) | foraen 2frar st famfor 120
(x) | foeemi & faet =ne T () 10
(xi) | I[g ATTY 150
(xii) | =TT 200
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Calculate ‘Gross National Product at Market Price’ and ‘Net National

Disposable Income’ :

(Rs. crores)

(i) | Rent 100
(i1) | Net current transfers to rest of the world 30
(iii) | Social security contributions by employers 47
(iv) | Mixed income 600
(v) | Gross domestic capital formation 140
(vi) | Royalty 20
(vii) | Interest 110
(viii) | Compensation of employees 500
(ix) | Net domestic capital formation 120
(x) | Net factor income from abroad (-) 10
(xi) | Net indirect tax 150
(xi1) | Profit 200
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